Econ 1102: Practice Problem Solution 2                                                                                            ©Gina Pieters 


Practice Problems 2
Q1. Supply line shifts

	Event
	Move to line…
	Reason

	Wages decrease
	3
	Costs more to produce

	Consumer income increases (Long run effect on AS)
	-
	Doesn’t affect supply

	Everyone expects High Inflation 
	2
	Adjust prices up


Q2. Short-run AS-AD

a. Lower prices, lower quantity

b. Higher prices, lower quantity
Q3.  AS-AD Model

a. Same prices, same quantity

b. Higher prices, same quantity.
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